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Warm Up Grade 7

1) Suppose the masses of balance scales are only available in
multiples of 4 g.

a) Sketch balance scales to represent this equation; x + 24 =40
x 383 38883 *
.

s

—

1)

b) Solve the equation. Verify the solution (Show your work)

Ar2Y = O
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Chect 13l

) nHl2= 20
(\v)

L) 20=3h13
GO
c) 223,20
L LO)
d) h—J-?::Q:2
\L)
20 o+2=7]
ot2-2 =14
a=95
L bib= 1/
bte- b =11-C
b=5
c) 10=c+5 I$gg;’ e -A'b
ct+5=1Ib 4 s)g+
cd4-5= b5 <an ‘d" Sine
(,':.. 5
) 156= 4+I0

16-1p = dF+Ilo—10
'é’:d
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) 26 = oF+/O
25—-10 =oF10-1D
15 = o

Ly b+e=2Y
[ A A 24—,
bL=Ig
c) ab= +20
20-20= c +20-20

10 = <
d) 2046= 19
204 b-b = 18-
2= 12
2 - 12
2 2

a=b
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b ~+7= 12 0l
N el

xX=5

\ hHg=22
bnﬁ%"l‘l‘ -8
i

) 2m=2(

2m _ 2k
5 2

m= |3

&\ 27=94+3%
719 =3k
18 = 3K

(D:K
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5 h:'U\-e. hb.mékf

) h+2= |2
MH2-2=12-2
h=/0

L) n19=2I

h—\%—‘/‘g :2"9

N ,_}h n’hlh/h

Lm %f

d) 1-H-3h =29
-4 =28-Y4

i ':J

'\
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, Per= sHstats
To%h o gihdeth
= 2h+106
3 p-er.: gl

2K+, = Ykt
2hH -1 = 446

ey 5k —9%- 2h =23

- 2h =23
2 2

’ﬂwelegwb h=I4
s 14
7. &= byh

|20= L5 YN

20 _

2 -5

= h

The height is Fem



gr 7 u6 eq day 6 solve with integers (slution to worksheet).notebook May 09, 2024

Solving Equations with Integers

Review

Adding Integers

To add 2 positive integers, add the numbers and the answer will be positive.
(+5) + (+6) = +11

To add 2 negative integers, add the numbers and the answer will be negative.

(-4) + (-6)=-10 .
To add a positive and a negative integer, subtract the number and keep the sign of the larger
number.

(-10) + (+7)=-3 (+20) + (-5)=+15

Subtracting Integers 5dd the Opposite
To subtract integers, the first number stays the same, the subtract sign changes to addition

and the number after the subtraction sign changes to its opposite.(Then use addition rules)

(+7) - (-11) (-3)-(-8)
add opposite add opposite
(+7)+ (+11)=+18 (-3) + (+8) = +5
2 = unshaded red
S — ' B 2ero pair
or shaded + . ‘
— +— yellow
X
yellow unit tiles for

Variable
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Remember from Section 1.8 solving using algebra tiles pg 38

* [ unshaded - O red.

or shaded + O ‘
— i yellow

Model with algebra tiles
0S4 = positive

 _3=10

M%,

7 Q4 - * -y =3

00
2¢
m,‘.fii' p="



gr 7 u6 eq day 6 solve with integers (slution to worksheet).notebook

May 09, 2024
A * h ..d C h?
RIH UAY ol ’"‘N(

Steven friends came to his birthday party. Seven of his frienas lert
at 8:00. Four friends stayed for the sleep over. Write an equation
you can use to find how many of Steven's friends attended his
birthday party. Solve the equations. Verify the solution.

Use tiles

|t %= Hof Lricnd that atieniad
‘\4\&?6{‘&3

X1 =4

X-1+8 = Y+1

=

Ihece were ] -Fr'.crds o Skuen's porty,
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Equations with Integers

Solve for the variable using algebra and integer rules

Ex 1) Ex 2)
r+8=-2 s-7=-4
r+g-3= -1-% S-14 = =Y+

May 09, 2024

(V __.__‘q [mi’m

10
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Class / Homework

Page 234
#1 (ShotahetiSaCaSias)

#3
#4
#5

46 Use integers
#

11
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B —
opgd opd
IIDI IIDI
ooEs Bnbk

oY oot

14
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Ihspection

29 G=p -4 b) x+6=8
13:’.;«\ xX=
c)2=p-§ d) X-4=—9
=p S+H="9
e) ~"8=st{ £) x—6= -2

-4 =s
3. x¥-h=
A-44 = B+Lf

A=17

15
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(@) — &3) (+7) —(-2)

(-9 +(-3) +7) + (+2)
6’\’_” o
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16
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%.l oA r-— .bsw"B)
Ske\.’ac)'\ 0&/5 S;bb»;bailh j-;%erd

X
1
1

A t+J= "

NHQHD="]1+2 /3l ain

= |
Homcw k
9913")’0& | - Sl(ul.sdw
2 = ngpedidh

17
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18
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